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Al & O &8 Ab e & Ml A

SA =R
M JAXE NESs M
Chel: Exipel(FXESES|H) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
k2| ot 7,203,509 9,484,026 A2,280,517
Al 210,000
- 6,993,509
2A8e S22 & 5,123,978 7,055,338 21,931,360
Al 210,000
- 4,913,978
FR2E(FXUHESEIAH) 581,497 731,175 149,678
SYFEAHE 174,611 292,728 A118,117
201 Ler23 | 105,156 87,870 17,286
01 At2t2ltl 34,348 38,868 4,520
NUEHS U K HITHA AEIH Q]
753 2,000 %12 1,800
NS SN SHSAEF B
3,000& *6+7H* 123 1,512
NS U2 753 *2,0002 122 1,800
NFE xSzl S
8,200 *7m*x1200H A 6,888
DAIRIEE I MM BAAI =S
100,000& 5 *13] 500
1)24A12 A& CHEEE TS| 6,440
2)ot= 80,0002 x28H1& 2,240
2)gtst= 150,000 x28E « 14 4,200
=B AT=HORRE 24
70,0002 «0EH*23|x 122 15,120
NFEEXAE JAT=HOZY SEN S
80&x3004 123 288
2 35284l 70,808 49,002 21,806
1) RS XA 1,188
2)58IH(aE) 57,0003 *4CH 228
EEIHEE) 100,000 *1CH 100
S (SE) 60,0002 *1CH 60
2)EEXHSEWY) 550,000 1CH 550
2)ESEIHESEI) 250,000 *1CH 250
NAusx B8 4,900
2)SEXHAE) 500,000 =4CH 2,000
2)SEIHEH) 600,000 1CH 600
2)se(52) 500,0002!1CH 500
2)EEXHSEW) 600,000 *1CH 600
2)SEIHESEW) 1,200,000 *1CH 1,200
NeEs FUHE MER
56,0002 x10CH~12& 6.720
=S CCTV HSAIAE X2l
406,000 <123 4,872
NEYFEX HEFEAAE SX2el|
22,963,000 22,963




S2A: F=xt2el
M. AHEE S22 H=
Chel: Exipel(FXESES|H) (12l M2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
1) Xt ==2/H 100,000 *8CH* 122 9,600
1) Xt AtY| 381
2)SEHEH) 55,0003 *1CH*23] 110
2)EEXHAE) 54,0003 *4CH*13] 216
)SEINESH) 55,0003 *1CH*12l 55
NeSU(ELR) 1,800 x150L*4CH+ 12& 12,960
1S FU(LPG) 1,200 x100L+1CH+ 123 1,440
NeEUH(ER) 1,800 *90L*1CH*12& 1,944
NEINXNESEHRS 60,0002 x2CH* 12& 1,440
DAIRMIESRHIIINBRN SAALATIS
60,0002 x20H 23| 2,400
203 PR =&IH| 4,115 4,115
03 A FAIH R FAIH| 4,115 4,115
NEYFIXHSE F01 2t 3
153, 7503 *43| 615
D=8 QAR AR AT| 2t T
150,000& 103 1,500
NEEEN HREE =2
200,000& *103 2,000
204 MR~ AY| 14,700 14,700
2 EZH=R&H| 14,700 14,700
NEYFIXNSS AIZIEERMYIIH(0Z) O
olgtEH|
50,0002 *(35A1 2F/40Al 2H)*28%H * 122 14,700
303 ZA&S 8,640 8,640
01 Z&=2 8,640 8,640
IEEES PR NE
80,0003 =9 12& 8,640
401 AlEHIZ20HY| 42,000 120,000 A78,000
01 AlEHI 42,000 120,000 A78,000
NSYFEXNEHEE CTV 45
3,500,000& 124 42,000
MEHERN ¥ = 276,850 274,570 2,280
201 B2 AY| 250,200 247,920 2,280
2 S=29| 250,200 247,920 2,280
NRER2 230,400
2) et 430&+5,6004* 12& 28,8%
2)S7I 2,530&%6,400244 x 12& 194,304
2)2H2 DX 1002 +6,00024 122 7,200
NRSHEAZCIAIAE X2 2=H| 19,800
2)2cold 2| Al AE
715,000& =128 8,580
2) LA 22| AIAE 495,000 128 5,940
2)0CREHF ol MI Al A 440,000 122 5,280
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SA =R
M JANE WSS M
ohel: Fet)} EXE JHA(EXESES) (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=Sl At
50,0002 x10E*12& 6,000
203 =] 2,500 2,500
03 A=A PR FA| 2,500 2,500
NI mZAMY JRFX 2,500,000 2,500
303 Zal= 3,000 3,000
01 A 3,000 3,000
AU SEOIME ZAD
3,000,000 3,000
401 AIZHIZ SO 428,060 543,402 A115,342
Al 210,000
- 218,060
01 Al&H| 425,000 540,000 115,000
NEEGSI| A 10,000, 0002 357 £ 350,000
Al 210,000
- 140,000
NEEASI| gHE &R
1,000,000 3574 2 35,000
Nedd2I |2+
2,000,000 *200H 2 40,000
03 AIZ S THYI 3,060 3,402 N342
N3AR2 203 3,060,000& 3,060
402 2I2FXH=201H 40,000 100,000 60,000
02 QI ESASEZ(0IETHR) 40,000 100,000 260,000
1OHIHE =Xt& X3 XY
20,000,000 #2JH 2 40,000
SEFXE AMEES 300,000 1,000,000 A700,000
401 AlZHIZ S0 300,000 1,000,000 A700,000
01 Al&HI 300,000 1,000,000 700,000
NELSEFNE 2 1L AL 2K 2
&= 300,000,000 300,000
LS USHE SYFY A4 2,000 22,000 220,000
203 =4l 2,000 0 2,000
03 A= PR FZ| 2,000 0 2,000
NSEFIE AL HRFA
2,000,000 2,000
AH 2 ZHI 1,065,546 1,028,895 36,651
QAR (FUHESESIA) 1,046,386 1,002,145 44,241
QIS 2| (FXt2elnt) 1,046,386 1,002,145 44,241
101 212A4H| 1,046,386 1,002,145 44,241
02 JIEtAE = 1,046,386 956,575 89,811
NEYFEXUES AIRIEHRMAIIM(0IE, 3B
Al2h) 994,936
)83 1,850,000 x28E « 12 621,600




SA =R
B sE2oAY|
SE R PIES FEEER) (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2= 70,0002 x28H « 12 23,520
R=nijei ==
49,339,000 *61+28% *(35A1 2H/40A1 2H)+1.025
74,342
2SR E 142,080 x28EF « 122 47,739
2)Z UG A 140,000 x28EH « 12& 47,040
2)AItE ]
1,850,0002*0.84%0.86+1/30%1/7+91 Al 2«28
16,216
AESIEE e
9,860 x30A| 2+28E * 12 99,389
)28 = 929,846,000 7. (0% 65,090
DARIEERAIIM(0tS) HSEXH
175,000+ (35A12t/40A1 2+ ) x28H+ 122 51,450
Jl22H(=XHESESI) 19,160 26,750 AT7,590
Jl23Hl(Fxt2eln) 19,160 26,750 AT7,590
201 Ler=23| 12,680 13,840 A1,160
01 AtR2te|Hl 12,680 13,840 1,160
NAIREEH 10,0002 x26 & *4=| 1,040
NEAD |2l 100,000 »2CH*43] 800
WA S22 100,000 »2CH*23] 400
NSEI| EHIERIX
250,000& x35+42] 3,000
=801 ESIHERIX
300,000 x4 5+43] 4,800
1SALEXI (M) 20,0002 +B&f Kt 122 1,920
124N =X S2AE
60,0003 x22=+62] 720
202 04l 6.480 6.480
01 =LHAHI 6,480 6,480
NEHALFA KHI(FEX SEHE)
20,0002 x93 * 12 6,480
HRas (=2l 1,013,985 1,399,793 385,808
WRHHXE(FRHESESIA) 1,013,985 1,399,793 A385,808
SEMHELEDI= HE 1,013,985 1,399,793 A.385,808
704 o= 1,013,985 1,399,793 A385,808
01 0&= 1,013,985 1,399,793 385,808
NSEMHEAEEIIS HES
1,013,985,000& 1,013,985




